MERCRUISER (4.3 [GEM1I1[4 BEL.] GM 262 -6 1396 < STARTER MOTOR AMD ALTERMATOR b w
Serial Mbr A ange: OFE01127 THRU DF802993 ()

Ref |Clazs|Part Description Qt Comment Footnote
2 10 B05343 2|SCREW [3/8-16 % 4-3/8in.] 2

3 11 B0E543|MUT M8 = 1.5) 1

4 11 40021 1| MUT[ME « 0.8) 1

5 13 26996 | LOCKWASHER [#10) 1

A a5 73695 | IMSULATOR 1

7 8171194 4| ALTERHATOR ASSEMEBLY 1 [SEE "ALTERMATOR [MAMDO]"
a2 13 26996 | LOCKMWASHER [#10) 1

9 11 79989 | MUT [10-24) 1

10 12 96457 "WASHER-Phenolic 1

11 13 269592 | LOCKMAASHER [1.44 i) 1

12 11 94330 NUT [1./4-20) 1

13 250137 | BRACE -Alternator Adjusting 1

14 10 98261 |SCREW [3/8-16 % 3/4 in.) 1

15 10 29198 5CREW [5/16-18 % 7/8in.) 1

16 12 26168 "WASHER 1

17 57908 11| TUBING 2

18 15083T | BRACKET -Alternatar 1

19 10 AVE1Z|SCREW [3/8-16 % 1-1/4 in) 2

19 10 34353 | 5CREMW [3/8-16 % 1 in.] 1

20 12 20553 '"WASHER 3

21 10 RE743|SCREW [3/8-24 1 3-1/81in) 1

22 11 23161 | MUT [3/8-24) 1




